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15. “Modern Portfolio Theory” to invest?
There are two questions needed to be answered.

(1) What is “Modern Portfolio Theory”?

(2) What is the major function for the investors to use

16. What is the definition of “Cause and Effect
Diagrams- Also known as Ishikawa or
fishbone” (4 ¥ B ~ +7 % )?

Write out the definition and the fishbone figure.

Ql7. What is the major difference between the
primary market and secondary market? Please
explain the differences?

Q18. There are three questions needed to be answered.

(1) How do you compute a company’s market cap?

(2) What are the two major significant protections that NYSE
has provided for investors in terms of listing requirements?

(3) What is the relationship between earnings and stock price?

Q19. There are two questions needed to be answered
(1)Are preferred stock investors guaranteed a fixed dividend?
(2)When a company goes bankrupt, what is the claim order for
the investors who come to make a claim on the firm’s assets?

Q20.;=,‘§-‘3* 3 -9 4

P/E ratio is stock price to earnings ratio. Why is P/E
ratio an important factor that may be significantly
correlated to stock prices?
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